LASER TAG ARENA

2x8 CONT PLATE RIPPED TO 6”

" WIDE. FASTEN TO TRACK 6CSJ18GA FULL HEIGHT ]
W/(2)10GA x 3” LONG SELF WALL STUDS @ 16" O.C.
TAPPING SCREWS @ 12” 0.C. (TYP)

(TYP)

N

6TSB18GA CONT TRACK. FASTEN
TO EACH STUD W/#10 TEKS

SCREW IN EACH LEG (TYP) HARDWOOD CAP.

SEE ARCH DWGS

6CSJ18GA STUDS @ 167
0.C. ALIGN W/FULL
HEIGHT STUDS (TYP)

PROVIDE BLOCKING
AS NEEDED FOR
HANDRAILS (TYP)—

FASTEN RAMP FLR JOISTS
TO EACH HALF WALL o 2|
STUD W/(4) #12 TEKS
SCREWS IN A 575"
PATTERN AS SHOWN (TYP)

407" CLEAR |
=

VESTING/BRIEFING ROOM

3 THICK FIRE RATED PLYWOOD
SHEATHING. FASTEN W/#10 TEKS
SCREWS @ 4" 0.C. T&B (TYP)

L2x2x14GA CONT. ANGLES
FASTENED TO EACH LIGHT GAGE
JOIST AND STUD W/#12 TEKS
SCREWS IN EACH LEG (TYP)

FASTEN EACH JOIST TO TRACK
W/2-#12 TEKS SCREWS (TYP)

6CSJ18GA STUDS @ 16"
0.C. ALIGN JOIST WEBS

INSTALL 2x4 CONT/INTERMITENT FIRE
RETARDANT SOLID BLOCKING SUFFICIENT TO
SUPPORT END OF EXISTING 2x10 JOISTS
AND EDGE OF EXISTING FLOOR SHEAHING.
FASTEN BOTTOM BLOCKING TO CONC. SLAB

W/0.177"% x 1 3" EMBEDMENT P.AF. (TYP)

8TSB14GA CONT. FASTEN TO EACH

JOIST W/#12 TEKS SCREW IN EACH
LEG. FASTEN TO 2x10 RIM BOARD

W/ 12GA x 3" LONG SELF TAPPING
WOOD SCREWS @ 6" 0.C. (TYP)

EXISTING HARDWOOD FLOORING (VIF)
(TYP)

EXISTING FLOOR SHEATHING (VIF)
(TYP)

2,7

%

//55———::5\\\\

SR %@M,

JOHN

H.
LEASURE

\/Uv . &ﬂ i

W

5 W/STUD WEBS (TYP)
= ) T/EXISTING FIN FLOOR = .
T/RAMP_(SUB_FLOOR) = ol T/NEW SUB FLOOR =
ELEV VARIES = Tl 22| |y
- — | = =z
T AN T/EXISTING SLAB Ol o
) S £ |2
/ x| |@
O
EXISTING CONCRETE 3 6TSB18GA CONT EXISTING 2x10 o I
3” THICK FIRE RATED PLYWOOD . =
SLAB (VIF) SHEATHING. FASTEN W/#8 HDG FLAT TRACK (TYP). © 167 0.C. (vIF) (TYP) 3 |
HEAD TEKS SCREWS @ 6” 0.C. @ EXISTING 2x CONT BLOCKING (VIF) 2|z
6T5812GA CONT TRACK. FASTEN 1O PANEL EDGES AND INTERMEDIATE (TYP) (TYP) D |G
EACH STUD W/#12 TEKS SCREW IN
EACH LEG AND FASTEN TO CONC. 8CSJ14GA FLOOR JOISTS @ 16" INSTALL CONT. 2x10 FIRE of ]2
SLAB W/3-0.177"¢ x 1 ¥’ 0.C. FASTEN TO FULL HEIGHT RETARDANT RIM BOARD. FASTEN TO S|
EMBEDMENT P.A.F. AT EACH STUD STUD W/3—#12 TEKS SCREWS @ END OF 2x10 JOISTS W/3—16d L
AT 168” 0.C. (TYP) 16” 0.C. ALIGN WFACE OF JOIST HDG NAILS (TYP)
WITH FACE OF STUD (TYP) MR
3" THICK FIRE RATED PLYWOOD 4-2" 6” + 12°-7" FLOOR (VIF)
SHEATHING. [PLYWOOD SHEET @ BOTTOM - K I
OF RAMP IN CONTACT W/ CONC SHALL 6TSB18GA CONT TRACK. FASTEN TO 2,
BE PRESSURE TREATED & BEVELED AS EACH STUD W/#12 TEKS SCREW IN
REQ’'D —COORD. W/OWNER FLOOR EACH LEG AND FASTEN TO CONC.
FINISHES] FASTEN W/#8 HDG FLAT HEAD SLAB W/0.177°8 x 1 §”
TEKS SCREWS @ 6" 0.C. @ PANEL OLSJTSGA RAMP FLOOR EMBEDMENT PAF. (TYP) SECTION
EDGES AND INTERMEDIATE (TYP) JORIS @ 16 0.6, FATEN 5
TO FULL HEIGHT STUD = 10
W/2—#12 TEKS SCREWS -
(TYP)
¢ POST 6TSB 18GA CONT (BETWEEN POSTS) g
S o TOP TRACK. (TYP) z 9
u w b bl __H.@/ M
< & 6CSJ18GA x 0'—4” LONG STUD PIECE y A o ©
N 0 BOTH SIDES OF TUBE STEEL. 2 2 . 0 =9 -
S = FASTEN TO TRACK W/#12 TEKS SCREWS B = - T Y
- o IN EACH LEG AND FASTEN EACH STUD 2 L | _ o O Z
= PIECE TO THE TUBE STEEL W/(2)0.177"¢ = O < =<ls]<l0 [ < =
P.AF. (B.S.COL) ) s 2,72 HSS 3x3x3/16” W
_ T/LIGHT GAGE TRACK VARIES __ - POST (TYP) > Z
5CSJ18GA STUDS ] it S = ELEV (SEE SECTION THRU RAMP) = f _ mTH
" @ 16” 0.C. (TYP) | O I /B — S X
i R : o Tt At WE
Z ~ | HSS 3x3x3/16” TUBE STEEL POST N ——H—t———= S
’ 9 - - - LY ” # 0 -
= F ﬁ BASE PLATE B 4 x 53 x 0°=9” W/ (4) ] T - | / ~ 55
— EXISTING 4” | 2"¢ x 3 8" EMBEDMENT HILTI HIT—HY 150 — 6TSB 12GA CONT TRACK. o O
2L CONC. SLAB e MAX. ADHESIVE ANCHORS IN 75”8 HOLES INSTALL BASE PLATE IN O
- = ON GRADE G.C. W IN PLATE AS SHOWN (TYP) 3/16 TRACK AS SHOWN (TYP)
O CONFIRM (TYP) f | 6TSB 12GA CONT TRACK.
2 Q INSTALL BASE PLATE IN TRACK (TYP) SECTION P—P
Ll
] | | BASE PLATE PLAN
50 T/EXIST. SLAB I § | — 1 = 10"
~ T ELEV (VIF) g E | E L S
Z 5 PROPOSED LASER TAG AMUSEMENT
s = SPARE TIME BOWLING
000 867 RIVERSIDE STREET
SECTION 5 = PORTLAND, MAINE

\_ P: .

N — \_u|O:

RAMP FRAMING DETAILS




